ENMEE ZFHISE 95

1.

(1)
(2)

2.
(1)
(2)

3.
(1)
(2)

(3)
(4)
(5)
(6)

(7

IRDRFNZE Z XK.

6
(22— £) oEMRIc B 28T ERD &.
10Co + 10C1 + 10Cg + -+ + 10Cio DA Z KD XK.

n#x 3 LEDEEKETEH, ROMWIZEZ L.
x+ytz=n(x=1l,y=1, z21) 2H=TEROM (x, y, 2) Oz RD &.
r+y+z=n(x=0,y=0, 2=20) 2H-3EEOM (x, vy, 2) O ZEZRD k.

IROBNIZE Z K.

XD DM\ 6 HDERZ 3 DDRIZ/H T B FiEIIE b P,

XBlDOh7\n» 6 fHoskzE 1 AD%T 1M EL S 2258 LT, 3 ANZo) 5 HiEIR
D .

KD 6 fHDOERE 1L H S5 2R VWALRVTEIWVWE LT, 3 ANZHT 5B HiE
(A D 2.

6 Nz 2N, 2N, 2 NOWHM, 17, MRS 5 GEERAGE D D,

6 AE 2N, 2N, 2AD3DDOMIZHT B HEIRMED H.

6AZ 1 ABVEVWHLED>TELIWELT, 320/ A, B, CIlzal) s HGiEIE
D M.

6 A% 1 ABWAWHALRWESIZ, 3OO0 A, B, CIlZHT 5 HiEII &L H.



